TABULATION SHEET FOR: BID# SDOC-08-B-089-CJ PAGES GO ACROSS THEN DOWN DATE/TIME: 3/20/08 @ 2:00 PM SQUARE D COMPONENTS FOR PORTABLES READ BY: Laura Elam RECORDED BY: Cheryl Jessee	Consolidated Electrical Distributors, Inc. 500 N. Westmoreland Dr. Orlando, FL 32805	Graybar 1 2400 South Division Avenue 1 Orlando, FL 32805	HD Supply Inc. 2520 N. Michigan Ave Kissimmee, FL 34744		
Bid Signed - Non Collusion Form	YES	YES	YES		
Drug Free Workplace Certification	YES	YES	YES		
Debarment Certification	YES	YES	YES		
Emergency/Storm related catastrophe- Contractor agreement form	YES	YES	YES		
Conflict of Interest form	YES	YES	YES		
References, in accordance with Section, Definition of Responsive and Responsible	YES	YES	YES		
Hold Harmless Agreement and/or Notice of Election to be Exempt, if required	YES	YES	NO		
Did you include a CD, as required in the section entitle Bid Submital Form?	YES	YES	NO		
Confidential materials statement, included, if any	YES	NO	NO		
Addendum # 1	YES	YES	YES		
PRICE SHEET					
1. Square D 800A #HCP18688M Estimated Qty. 5 Unit Price \$ Extended Price \$	\$2,516.00 \$12,580.00	\$2,531.00 \$12,655.00	\$2,100.00 \$10,500.00		
2. Square D N3R Enclousure #HC4268WP Estimated Qty. 15 Unit Price \$ Extended Price \$	\$874.00 \$13,110.00	\$876.00 \$13,140.00	\$1,100.00 \$16,500.00		
3. Square D Neutral Kit #HCW8SN Estimated Qty. 15 Unit Price \$ Extended Price \$	\$126.00 \$1,890.00	\$126.00 \$1,890.00	\$160.00 \$2,400.00		

TABULATION SHEET FOR: BID# SDOC-08-B-089-CJ PAGES GO ACROSS THEN DOWN DATE/TIME: 3/20/08 @ 2:00 PM SQUARE D COMPONENTS FOR PORTABLES READ BY: Laura Elam RECORDED BY: Cheryl Jessee	Consolidated Electrical Distributors, Inc. 500 N. Westmoreland Dr. Orlando, FL 32805	Graybar 2400 South Division Avenue Orlando, FL 32805	HD Supply Inc. 2520 N. Michigan Ave Kissimmee, FL 34744		
4. Square D Ground Bar Kit #PK32GGTA Estimated Qty. 15 Unit Price \$ Extended Price \$	\$18.28 \$274.20	\$19.00 \$285.00	\$25.00 \$375.00		
5. Square D #QDA221002 Estimated Qty. 15 Unit Price \$ Extended Price \$	\$209.00 \$3,135.00	\$210.00 \$3,150.00	\$200.00 \$3,000.00		
6. Square D Filler Blanks #HNM1BL Estimated Qty. 60 Unit Price \$ Extended Price \$	\$2.55 \$153.00	\$2.53 \$151.80	\$4.75 \$285.00		
7. Square D Filler Blanks #HLW1BL Estimated Qty. 30 Unit Price \$ Extended Price \$	\$2.55 \$76.50	\$2.53 \$75.90	\$4.75 \$142.50		
8. Square D 800A #HCP36868M Estimated Qty. 10 Unit Price \$ Extended Price \$	\$2,629.00 \$26,290.00	\$2,643.00 \$26,430.00	\$3,350.00 \$33,500.00		
9. Square D 400A #HCM23734M Estimated Qty. 5 Unit Price \$ Extended Price \$	\$1,248.00 \$6,240.00	\$1,250.00 \$6,250.00	\$800.00 \$4,000.00		
10. Square D N3R #HC3273WP Estimated Qty. 5 Unit Price \$ Extended Price \$	\$650.00 \$3,250.00	\$651.00 \$3,255.00	\$400.00 \$2,000.00		

					1
TABULATION SHEET FOR: BID# SDOC-08-B-089-CJ PAGES GO ACROSS THEN DOWN DATE/TIME: 3/20/08 @ 2:00 PM SQUARE D COMPONENTS FOR PORTABLES READ BY: Laura Elam RECORDED BY: Cheryl Jessee	Consolidated Electrical Distributors, Inc. 500 N. Westmoreland Dr. Orlando, FL 32805	Graybar 2400 South Division Avenue Orlando, FL 32805	HD Supply Inc. 2520 N. Michigan Ave Kissimmee, FL 34744		
11. Square D Neutral Kit #HC4SN Estimated Qty. 5 Unit Price \$ Extended Price \$	\$58.00 \$290.00	\$59.00 \$295.00	\$45.00 \$225.00		
12. Square D Breaker #FA22100AC Estimated Qty. 200 Unit Price \$ Extended Price \$	\$107.00 \$21,400.00	\$108.00 \$21,600.00	\$130.00 \$26,000.00		
13. Square D Breaker #F24040AC Estimated Qty. 10 Unit Price \$ Extended Price \$	\$113.00 \$1,130.00	\$114.00 \$1,140.00	\$130.00 \$1,300.00		
14. Square D Breaker #FY14020C Estimated Qty. 10 Unit Price \$ Extended Price \$	\$25.80 \$258.00	\$26.00 \$260.00	\$35.00 \$350.00		
15. Square D Breaker #FY14020A Estimated Qty. 10 Unit Price \$ Extended Price \$	\$25.80 \$258.00	\$26.00 \$260.00	\$35.00 \$350.00		
16. Square D Disconnect #H364NRB Estimated Qty. 10 Unit Price \$ Extended Price \$	\$314.00 \$3,140.00	\$315.00 \$3,150.00	\$320.00 \$3,200.00		
17. Square D 150 KVA Transformer Estimated Qty. 5 Unit Price \$ Extended Price \$	\$3,274.00 \$16,370.00	\$3,293.00 \$16,465.00	\$3,100.00 \$15,500.00		

TADULATION CHEET FOR	.5				
TABULATION SHEET FOR: BID#_SDOC-08-B-089-CJ PAGES GO ACROSS THEN DOWN DATE/TIME: 3/20/08 @ 2:00 PM SQUARE D COMPONENTS FOR PORTABLES READ BY:Laura Elam RECORDED BY:_Cheryl Jessee	Consolidated Electrical Distributors, Inc. 500 N. Westmoreland Dr. Orlando, FL 32805	Graybar 2400 South Division Avenue Orlando, FL 32805	HD Supply Inc. 2520 N. Michigan Ave Kissimmee, FL 34744		
18. Square D Weather Shield #WS380 Estimated Qty. 5 Unit Price \$ Extended Price \$	\$142.00 \$710.00	\$143.00 \$715.00	\$135.00 \$675.00		
19. Square D 300 KVA Transformer #EE300T3H Estimated Qty. 2 Unit Price \$ Extended Price \$	\$5,803.00 \$11,606.00	\$5,833.00 \$11,666.00	\$6,500.00 \$13,000.00		
20. Square D Weather Shield Estimated Qty. 2 Unit Price \$ Extended Price \$	\$240.00 \$480.00	\$243.00 \$486.00	\$270.00 \$540.00		
21. Square D 112.5 KVA Tranformer #EE112T3H Estimated Qty. 3 Unit Price \$ Extended Price \$	\$2,519.00 \$7,557.00	\$2,523.00 \$7,569.00	\$1,950.00 \$5,850.00		
22. Square D Primary Lug Kit #7400DASKP400 Estimated Qty. 8 Unit Price \$ Extended Price \$	\$29.00 \$232.00	\$29.00 \$232.00	\$29.00 \$232.00		
23. Square D Secondary Lug Kit #7400DASK600 Estimated Qty. 5 Unit Price \$ Extended Price \$	\$45.80 \$229.00	\$46.00 \$230.00	\$46.00 \$230.00		

TABULATION SHEET FOR: BID# SDOC-08-B-089-CJ PAGES GO ACROSS THEN DOWN DATE/TIME: 3/20/08 @ 2:00 PM SQUARE D COMPONENTS FOR PORTABLES READ BY: Laura Elam RECORDED BY: Cheryl Jessee	Consolidated Electrical Distributors, Inc. 500 N. Westmoreland Dr. Orlando, FL 32805	Graybar 2400 South Division Avenue Orlando, FL 32805	HD Supply Inc. 2520 N. Michigan Ave Kissimmee, FL 34744		
24. Square D Primary Lug Kit #7400DASKP600 Estimated Qty. 2 Unit Price \$ Extended Price \$	\$53.25 \$106.50	\$53.00 \$106.00	\$54.00 \$108.00		
25. Square D Secondary Lug Kit #7400DASKS400 Estimated Qty. 2 Unit Price \$ Extended Price \$	\$87.00 \$174.00	\$87.00 \$174.00	\$87.00 \$174.00		
26. Square D Secondary Lug Kit #74 DASKS400 Estimated Qty. 3 Unit Price \$ Extended Price \$	\$24.30 \$72.90	\$25.00 \$75.00	\$25.00 \$75.00		
27. Square D Disconnect #D325NR Estimated Qty. 5 Unit Price \$ Extended Price \$	\$510.00 \$2,550.00	\$510.00 \$2,550.00	\$535.00 \$2,675.00		
28. Total cost \$	\$ 133,562.10	\$134,255.00 CORRECTED TOTAL \$134,255.70	\$ 143,186.50		